SHSEFESARMESEFSEMHE FE () RER
(HEAL T1)
= i A E BT o FE| 1E Bl E % o
— ine o 2 (855 228,276,720 3,804,000 232,080,720
— ike il = B B 397,854,677 3,804,000 401,658,677




TS FEE—RIFHETFRE (E55) () £EF

(%N
(Hfr TM)
Ee W O1E % T RN R i 2
60 [EE 4 3,804, 000 | + AAHIZHE S MHIE
Hh 5 B A B Re AR A5 4 3, 804, 000
i IE T B %8 3, 804, 000
(hk )
(A TH)
B/ E %M ¥ N i
15 A% 3,804, 000 | {FEBIFEFRBIHEHE 10 LE S KEBA a2 T2 LI
£ 5 HE
1E BB R B A R R R B S S RAFktg HEAB OS5 EEOERBNIERB TH S
94, 000 HE#E (53, 000 HH5)
FE BB AR o SRR R R S48 ey Zf KA S0 70
3, 710, 000
i £ T OH % 3, 804, 000




